|/4 ||x4||x21_| ||| - 31_0|| _ |/4||x4||x21_2|| . 21_3|| _
FILLER PLATE\ 6" |1 -2n 6" 5" 6" AV av a6 € Ugrx4r SLOTS PILLER PLATE 6" 9%t 6" 2% 6" 4y 4%y 6" € T DIA HOLES
i | %on DIA | | : HSSBx6x e | | | | IN TOP % Bg)TTOM | | %o DIA | : HSSExX6xX Ve i | v | IN TOP & B(S)TTOM
HSSSXSXE%G \ | |/HOLES | | il \ | | | | OF HSS6X6XA6 HSSSXSXE%G | |/HOLES | il | | | | OF HSSGXGXAG
] ] ] ] ] ] ] ] ] | ] !
\———-!——T_—_L_—_f = l_—_T— l —_— - ¢ ___I*"':—'—"—“:I'——:::_!—::::‘?:_‘:'—_‘:_‘li'—_‘:::‘——!:‘—T—"_I__' A \I—\}—_!_—_—_ r_j_==_==:_Fr_=rl_T - ; ___.f?_‘—!“_:?_’::_!— ________ :'::::!::':"_::':L'_:Elru__" A
bt b R S R et i o i TR B e e L e 66 -
= — == === = = === == == _ _ | S - _CZTZ—-ZZZ-Zle - - T iy ___J_:;:_____;:_:,__'___ Y s eyl ___II—:_:_:___:__:::::::::::;_:—;—____—_:—;—:—____—_::__'___ Y
TYP EACH | / o | EXPANS I ON / \3/4 " DIA x 7'%" BOLTS TYP EACH | / /2" . FIXED / \3/4 " DIA x 7', BOLTS
FILLER PLATE” '/, 2-10 (TYP) SPLICE TUBE (TYP) FILLER PLATE” 1/, V2-8 (TYP) SPLICE TUBE (TYP)
TOP VIEW TOP VIEW TOP VIEW TOP VIEW
© %" DIA HOLES THROUGH L © %" DIA HOLES THROUGH L 6", 9% _, 6"
TOP & BOTTOM OF TUBE i i i i HSSEXx6x¥e TOP & BOTTOM OF TUBE i i i i HSSEx6x Ve | e |
& BOTTOM FILLER PLATE i i i \ & BOTTOM FILLER PLATE i i i \ | | | |
S S e e | e —————dr oA = H = dc A T
. . N "' i (I
| | | | <= | | | | == oo i i hon ST
g ————m e =i __ I;'I':_:_::_%;:_:::::_:%:;:_:%:;___
| / \'/4 "x4"x |’ -8" BOTTOM EXPANS I ON - - | 7- \'/4 "x4"x2' -2" BOTTOM FIXED - - - -
Iy V' 2-8 FILLER PLATE SPLICE TUBE \/, V2-8 FILLER PLATE SPLICE TUBE
SIDE VIEW SIDE VIEW SIDE VIEW SIDE VIEW
EXPANSION SPLICE TUBE EXPANSION SPLICE TUBE ASSEMBLY FIXED SPLICE TUBE FIXED SPLICE TUBE ASSEMBLY
3 -0 2’ -3 6" 4Yon 4l g € %" DIA HOLES
— — 6|| 4|/2|| 4|| 4|/2|| 6|| (E 7/8“X4“ SLOTS - — !—4—»—!—4—2><—2>-!-<—>-!-<87
6" | _2“ 6" 5“ !< >!< P . Y >!< >!< IN TOP & BOTTOM 6" 9|/2“ 6" 2'7%4 N HSSSX3XI/4 | | |/2“ | IN TOP & BOTTOM
i HSS5x3x!/4 | | | | .~ e ' B | e © OF HSS5x3x'/4
o o S | OF HSS5x3x/ o - \ . o
| | | | " \ . . . | | | | “~ | | | |
- y i i i i N i - | ! I ! [ - 7T . ! | | BN i ———[—_—_F_—_:_—_ — :___T_______T__ﬂf-\_\___ ] 1
< T-—-—-—&-—-fp— --------- —9—-—-9 ~ T o G Q=9 —~= Q- @- —-—-@i—-—-@- ;ST
Q’V \ / I Q’V AN / — ~— - == - == X7 | Y
_-\00‘ \ 2I/8nx4|/4nx3/ -O" EXPANS ION / \3/4 " DIA X 4'/2“ BOLTS _\co‘ \ 2I/8n><4|/4 D! =3 FIXED \3/4 " DIA X 4|/2|| BOLTS
™ SPL ICE BAR SPLICE BAR (TYP) ™ SPL ICE BAR SPL ICE BAR (TYP)
TOP VIEW TOP VIEW TOP VIEW TOP VIEW
© %" DIA HOLES _ _ _ 6" -2 6" © %" DIA HOLES _ _ _ 6" 92" 6"
TAROUSHBAR 1 s S HSS5x3x//a S - U L L R THROUGHBAR 0 1 HSS5X3x/a 1 R
o o | | o L '
l l l l | l l . i) o}
A i i i i . I i i i i . .
! I I I I 1 | | | |
NS L A EXPANS | ON ' ' 2 L A F IXED
N SPLICE BAR N SPL ICE BAR
SIDE VIEW SIDE VIEW SIDE VIEW SIDE VIEW
EXPANSION SPLICE BAR EXPANSION SPLICE BAR ASSEMBLY FIXED SPLICE BAR FIXED SPLICE BAR ASSEMBLY
AYa" NOTES:
- o /s CHAMFER |.  PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING
X o SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES, SPLICE BARS, AND FILL PLATES.
= i ON ALL EDGES
‘ (TYP) 2. FOUR ¥ " DIAMETER FULLY THREADED BOLTS WITH TWO HARDENED (F436) WASHERS AND A
HEAVY HEX NUT ON EACH BOLT. NUT TO BE FINGER TIGHT AND THE FIRST THREAD BELOW
SECTION A-A THE NUT TO BE BURRED TO PREVENT DISLODGING. FOUR BOLTS AT EACH SPLICE.
REV. DATE DESCRIPTION
0 AUG. 9, 2010 ORIGINAL APPROVAL
3 FEB. 2, 2017 BORDER UPDATE, MISC. REVISIONS ( : | || AR )RA APPR@ACH S *C’ ]I ‘][@ §l @ T A N @ A @@
7 APR. 7, 2020 | ADJUST SPLICE BAR DETAILS 9 WI
5 FEB. 7, 2022 | REMOVED EXTRA NOTES ABOUT GALVANIZING TANS Vb el
6 | FEB. 15, 2023 | REVISED STANDARD TITLE AND PAY ITEVS GALVANIZED 3 RAIL BOX BEAM - CURBLESS =

OTHER STANDARDS REQUIRED: NONE

VTRANS AND FHWA APPROVAL ON FILE WITH CONTRACT ADMINISTRATION




	stds364c

